Chapter 17: Wave Optics
17.1: What is Light? Several different ways of viewing light, depending on context.
Ray Model. (Ch, 18). Wavelength << size of objects, e.g. light through a window.

Wave Model (Ch. 17) Wavelength ~ size of objects, e.g. sound through a window, or light
through a very narrow slit.

Photon Model (Ch. 28) Quantum realm

The wave model is relevant when wavelength of wave is roughly the same size as any obstacles or
apertures. That is the subject of this chapter.
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17.2 The Interference of Light

Double-slit interference
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17.3 The diffraction grating
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See examples.

Next: single slit diffraction




